
Name:

t2.3 MODE

Class: Date:

ldentify the mode of a data set 1,3
ldentify the mode of a grouped data set 2 6 7 8 1 1

ldentify the modes of a data set with bimodal
distribution 1,7 ,11

Solve problems involving mean, median and mode 4,5, 7, 8, 9, 10, l1
Suggest whether mean, median or mode is the
most appropriate avera ge for a data set 4 7

|----r---r-----Key Skills Checklist Related Questions2 5

Confidence LevelF_

bimodat a set of data is the value that occurs most often_

The following table shows the nu mber of siblings for another l0 studen

The value 0 appears four times, r appears four times and 2 appears two times.
Since 0 and I occur the most often, both 0 and I are the modes.

0 l i 0 2

I 2
,I

0 0

ts.

The mode of

ution is said to be bimodal
Since there are two modes, the distrib
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The table shows the number ofsiblings for 10 students.

The value 0 appears three times, 1 appears four times, 2 appears two times and3 appears one time. Since I occurs the most often, tt e moae is l.
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$ find the mode of each ofthe following sets of numbers

(al 27, 14, 3s, 7, 25, 17, 7, 22

(b) 34, 16, 19, 56, 49, 76, 33, 66

(<) 2 47, 74, 55, 82, 92, 25' 66, 55, 33, 24

@ the dot diagram shows the su rvey resu lts of the number of steps walked by some students the

previous daY.
Number of stePs walked

5

1 89 10 1134 56
Number of stePS (in thousands)

l-rnO

(a) the number of students who took part in the survey'

(b) the median number of steps watked'

(c) the modat number of steps walked'
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@ The table shows the number of library visits made by 35 adults in a month

Number of library visits 0 I 2 3 4 5

Frequency 3 5 9 6 8 4

(a) Write down the modal number of library visits.

(b) Find the median number of library visits.

o
@

The shoe sizes of l2 students measured using the US scale are shown below

9 8,5 tl 9 '10.5
10

(a) Find

(i) the median shoe size,

(ii) the modal shoe size,

(iii) the mean shoe size.

(b) sheilaclaimsthatthemeanbestrepresentsthissetofdataasitaccountsforall 
thevaluesinthe

set. Do you agree with her claim? Explain your answer.
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@ The masses, in kg, of20 femate students' schoot bags, are listed below

2.8 4.5 5.3 3.9 4.2 4.2 3.4 2.7

2.1 5.9 4.6 2.8 3.4 4.0 3.4 3.8 4.3 4.5

2

3

4

5

Key: 2 I represents 2.1 kg.

(b) Find

(i) the mean mass,

(ii) the median mass,

(iii) the modaI mass

of a school bag.

@ The table shows the number of books read bY a group of students during the holidays'

Number of books read
'l 2 3 4 5 6

FrequencY 5 8 x 9 1 6

Given that.r is a positive integer, find

(a) the targest value of x if the modal number of books read is 3'

(c)Aheatthorganisationrecommendsthatthemassofaschoolbagshoutdnotbemorethan.l00/o
ofastudent,sbodymass.GiventhatthefemalestudentsintheSchoothaveameanmassof
47.5 kg, find the number of school bags that have exceeded the recommended mass'
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(a) Using the above data, comptete the stem-and-leaf diagram.

Masses of school bags

stem I leat
1

0



(b) an inequaLity in terms of r if the modal number of books read is 2,

(c) the mean number of books read if the number of students surveyed is 45.

@ The histogram shows the utility bills of households staying in a btock.
(o utitity bilts of househotds in a btock

ri I l T i-i I'

.-..:I__

$)

#f--.-i

.!;
ll

(a) Write down the number of households staying in the block.

(b) Find

(i) the modalclass,

(ii) the class intervalwhich contains the median,

(iii) the estimated mean of the distribution.

(c) comment on which measure of central tendency is the best representation for this set of data.

II r
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@ A shopkeeper records the number ofapples found in some boxes using a dot diagram

Number of apples per box

2a 29 30 31 32 33

Number of apples
34 35 36 37

(a) Find the total numberofboxesofapples

(b) Find the mode.

(c) Find the mean

(d) The distributor ctaims that at least 700/0 of the boxes contain at least 32 apples'
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Determine if the claim is accurate.



ADVANCED

@ A set of numbers, containing eight positive integers, is arranged in ascending order:
5ry a, 40, b, 43, 45, c, 47, d..

. The mean of the set of numbers is 44.

. The med ian of the set of nu mbers is 44.

. The mode of the set of n um bers is 43.

. The largest difference between any two numbers is lO.

Find the values ol a, b, c and d.

@

@
The table shows the nu mber of times a group of students arrived late for school.

Number of times 0 I 2 4 5 6

Frequency 3 14 x 6 6 3 2

(a) Find the value of r if the modes are.l and 2

(b) Find the value ofx if the mean is 2
t5
a'

(c) Is it possible for the median to be 3? Explain your answer.
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@ The History and Geography test scores of 22 students are presented in the back-to-back

($ stem-and-leaf diagram. Each test has a maximum of 50 marks.

Test scores of students

Leaf for History Stem Leaf for Geography

99865
886654

7544310

0358
14456778
722458

5

Key: 4 | 1 ] 2 represents 14 marks for History and l2 marks for Geography

(a) For each subject, find

(i) the mean test score,

(ii) the median test score,

(iii) the modal test score.

Determine if the above statement is true'

0

(b) The passing grade is 500/o and the distinction grade is 700/o for both subjects'
' ' 

catcutate tle percentage of passes and percentage of distinctions for each subject.

(c) ..StudentsperformedbetterintheHistorytestthanintheGeographytest,,.
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Na me: Class: Date:

POP ,'l2A
Durotion:

15 minutesuaz

l! The table shows the number of goals scored in each game by a football team in one season.

Number of goals scored 0 I 2 3 4 5 6

Frequency 5 9 10 6 6 1 2

Find

(a) the mean,

l2l

trI

@ 1a1 the mea ns of data set,A and data set B are 4.2 and 3.16 respectively.
There are 25 and 30 values in set,4 and set I respectively.
Find the mean ofthe combined values in sets/ and B.

.... 12)(b) The median ofa set of six consecutive odd integers is 36.
Find the largest value in the data set.

tll
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(b) the median.



@ the dot diagram shows the satisfaction ratings of a product given by 30 customers

A higher score means that the customers are more satisfied.

Satisfaction ratings of a product

012 4567
Satisfaction rating

(a) Find the mean rating.

(b) Find the median rating.

Mean 3.6

Median 3

ExplainifthecustomersweremoresatisfiedWiththerevisedversionoftheproduct.

(c}Duetothelowratings,theproductswererecaltedandrevisedproductVersionsWeresenttothe
samecustomers.ThemeanandmedianofthenewsatisfactionratingsareaSfotlows.

12)

t1l

lrl
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Name: C la ss: Date:

POP 12E Durotion:
15 minutesutz

Q the table shows the number of daily sales made by a salesman in 30 days.

Number of sales t0 12 t3 14 t5

Frequency 3 6 7 x v 4

(a) Showthatx+y=10.

(b) Given that the mean number of sates is tZf , form an equation in x and y and show that it
reduces to 13, + I4y =13+.

(c) Sotve the simultaneous equations in (a) and (b) to find the values ofx and y.

lll

Lrl

12)
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@ the histogram shows the age distribution of 58 staff at a company.

Ages ofcompany staff

(a) State the modal class.

(b) Find an estimate of the mean age of the staff at the company.

(c) A fu nd is available for the company if 400/o or more of their staff are 35 years otd a nd below
Determine if the company is eligibte for the fund.

(d) A team of executives aged 40-45 joins the company. The median age is now in the 35-40 class.

Find the maximum possible number of people in this team.

ttl

L2)

tll

12)
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Age (years)

35

I


